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Trovagli interi Nome:
identifica seil valore mostrato e un intero (si) o no (no). Risposte
1) 1 2) 2
-37 1
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3 28 4) 682
3 >
4,
5 12 6) 0
T 5.
6.
7) 354.115 8) 6
— 7.
8.
9) -722 10) 32
2 9,
10.
11) -36 12) 58
9 11.
12.
13) 3 14) -8.0000
'8§ 13.
14.
15 6 16) -8
83 15.
16.
17) 9 18) 616.0
17.
18.
19) 956.92 20) 56.00
19.
20.
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Trovagli interi Nome: Soluzioni
identifica seil valore mostrato e un intero (si) o no (no). Risposte
1) 1 2) 2 )
-37 1 S
2 no
3 28 4) 682
3 LU
a S
5 12 6) 0 .
T 5. Sl
6. S
7) 354.115 8) 6
7 7. no
8. no
9 -722 100 32 .
2 9, S
10, S
11) -36 12) 58 :
9 11. S
12. no
13) 3 14) -8.0000
-8§ 13. no
14. S
15 6 16) -8
83 15. no
16. S|
17) 9 18) 616.0 .
17. S
18. S|
19) 956.92 20) 56.00
19. no
20. s
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